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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T TS H U (50) g foaed T U9 €1 T W 6 g (2) 3k €| |l IRl o S

sy
1.  Verbal guidance is least effective in the learning of :
(A) Aptitudes (B)  Skills
(C) Attitudes (D) Relationship
2. Which is the most important aspect of the teacher’s role in learning ?

(A) The development of insight into what constitutes an adequate performance

(B) The development of insight into what constitutes the pitfalls and dangers to be
avoided

(C) The provision of encouragement and moral support
(D) The provision of continuous diagnostic and remedial help

3.  The most appropriate purpose of learning is :
(A) personal adjustment (B) modification of behaviour
(C) social and political awareness (D) preparing oneself for employment

1. Tifes fde o1 die | agd w9 997et B € 2
(A) T=H (B) hI¥IA
(©) sfvafa (D) o

2. sifr H, e 1 femisti 1 wad AE@qYl 9 R T ?
(A) TR I L, S 9are Foaed o el | qRod 21 S|
(B) Tfieh forehm o, Forad wadi el ferdit o et ® He 9 991 ST 9 |
(C) YicEmed Ta Afdeh TR < 1 Jaig AT |
(D) Edq e Te SUAR HREdl o1 Yeirel i |

3. Afr (EReH) o Haifesh Suged Sevd ® -

(A) SafFeh AR (B) HIER T TR
(C) WM TS TS e (D) 799 %l TSR & e TR T
M —00 3 P.T.O.



4.  The students who keep on asking questions in the class should be :

(A) encouraged to find answer independently

(B) advised to meet the teacher after the class
(C) encouraged to continue questioning
(D) advised not to disturb during the lecture
5. Maximum participation of students is possible in teaching through :
(A) discussion method (B) lecture method
(C) audio-visual aids (D) text book method
6.  Generalised conclusion on the basis of a sample is technically known as :

(A) Data analysis and interpretation

(B) Parameter inference
(C) Statistical inference
(D) All of the above
7.  The experimental study is based on :

(A) The manipulation of variables (B) Conceptual parameters

(C) Replication of research (D) Survey of literature
8.  The main characteristic of scientific research is :

(A) empirical (B) theoretical

(C) experimental (D) all of the above
9.  Authenticity of a research finding is its :

(A) Originality (B) Validity

(C) Objectivity (D) All of the above

10. Which technique is generally followed when the population is finite ?
(A) Area Sampling Technique (B) Purposive Sampling Technique
(C) Systematic Sampling Technique (D) None of the above

M-00 4



4. SN ST He H AT YDd WA ¥ -
(A) 3% Ea7 Y ¥ W UG L o foIg Yiedntea foran ST =me |
(B) h&T < IS 1eATIH § el i Hetrg &1 St =g
(C) 3% TH Falrel YBd L& sl UiedTted feran s =nfen |
(D) SIAN % 19 H S141 7 ST i Felg & Sl <1y |

5. BE  stfeehad wfawifitar e §
(A) uf==l fafy g (B) =M fafy gra
(C) F=a-399 |IEA 51 (D) UeA-J&eh fafy g/

6. fomam (Huer) & SMuR R el T fshd w9 o €
(A) 3TER SRt fageror qen = (interpretation)
B) U (WHieR) T HM

(
(C) Wit 1AM
(D) ST |t
7.  WANTHSE 1T % oM T enafi| B 7
(A) TfEdf (variables) H oS (B) HIfceh TR

(C) <MY o1 9fdshfd (Replication) (D) Wfec sl Fo&l

8. Ak THYM & q&A Stfiycrer €
(A)  SAIHETHA (B) Fgifaw
(C) TR (D) SwE a+ft

9.  TIEYM ! WISl I YrEIoehdr fAR et ®
(A) Hifetshdr W (B) dud W
(C) =BT W (D) SWRIa |t

10. <& SHEEA HHA (finite) 31 A1 hiF H Goheh 7T S & 2

(A) &3 gfq=e qeodih (B) ER¥A fd==H deheich
(C) whHeg Ufd=e qehrich (D) 3T 9 =g &
M —00 5 P.T.O.



Read the following passage and answer the questions 11 to 15 :

Gandhi’s overall social and environmental philosophy is based on what human
beings need rather than what they want. His early introduction to the teachings of
Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the
Bhagavad Gita, were to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for
the disadvantaged, the poor and rural population created an ambience for an alternative
social thinking that was at once far-sighted, local and immediate. For Gandhi was
acutely aware that the demands generated by the need to feed and sustain human life,
compounded by the growing industrialization of India, far outstripped the finite
resources of nature. This might nowadays appear naive or commonplace, but such
pronouncements were as rare as they were heretical a century ago. Gandhi was also
concerned about the destruction, under colonial and modernist designs, of the existing
infrastructures which had more potential for keeping a community flourishing within
ecologically-sensitive traditional patterns of subsistence, especially in the rural areas,
than did the incoming Western alternatives based on nature-blind technology and the

enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active
non-violence, derived from the traditional moral restraint of not injuring another being.
The most refined expression of this value is in the great epic of the Mahabharata,
(c. 100 BCE to 200 CE), where moral development proceeds through placing constraints
on the liberties, desires and acquisitiveness endemic to human life. One’s action is
judged in terms of consequences and the impact it is likely to have on another. Jainas
had generalized this principle to include all sentient creatures and biocommunities
alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects

and even bacteria. Non-injury is a non-negotiable universal prescription.



11.

e fora TEmeT Wt ufgw 3 11 @ 15 & & GF1 &7 39T T |

TefiStt ST WrHITSTeR o TTeRoT < T ®Y 9, T 991 Hed § 9T ST | 8,
ITHRT STTTIHRATS T MG 71 S & Ry H i, i, a1 % Suen, Fem
AR e R TOaY WEEYU FTagiar % UREd 7 S Hears! "ied], hia 39
qATeRv ST<TeHe Y o fHdT I e YWIE Sl | HIEGTRA UHI0 S o 9fd 37k 7 H T
Sehfeue TS a1 foaR o, S gReell, T ofR dickiarss of | TSt 39 9 9
T TE STEk I TR TIhfaeh SEneEl i g H, S o fT SIS S[e okt Wi we s o,
AR STEmier 3 34 TR Sifet o1 foon o1 =% o 37 St | TR il o @ aifed
T VIAT(eS Ueet I8 SR HHeTE St forat oft | Tiefist snyfreraran, sirafraferes sea= %
ST, qATeR % Ui Horeier HiofT @ o forrer skt streien @ fefad 9 g9 Hisge @t
0T W07 Y YRR Tfd & HIeT oM ot STIR HAraA ot forre 9 & ureitor & o; s
T ST T iR I S SHaTel oeheudh e afeert oS o |

I TSt skt <7 Ak fagia Ged eifuss <1 ST §, o1 © 9fsha ifdan, gay Sfidi
T T U], RN Ak HaH ¥ I | 39 od i Gt uishd eifeatad gereRa
TS (100 § 200 £.9,) | fHerdt § Sl e Siam st FiaR wad=amsti, gesisil ok 91 &
SR 0T TR & ek forenre B € | AT o il o Jodieh, GHU o SR SHh! 1 T9E
TS SHY W SO ¥ 1S A 59 fasia B e S qen Siasigell ) §6E 9 § @]
e €1 sTuit S g IR faegfor Sial o Sl ot g 7 8 sufeT TR 6 3g | geRd ¥ |
A Tl e B, fg W B Fughar 7 & Gehar |

frefafed & @ st st Amed, Tia iR ST Ao § siaegsd &t gaare! faarRem &
forehTe o SR fohdeRt el JTd 91 %2

(A) S foremst (B) HE Yal I
(C)  TTeGIrar (D) e IR U
M-00 7 P.T.O.



12. Gandhi’s overall social and environmental philosophy is based on human beings’ :
(A) need (B) desire
(C) wealth (D) welfare
13. Gandhiji’s deep concern for the disadvantaged, the poor and rural population created
an ambience for an alternative :
(A) rural policy (B) social thinking
(C) urban policy (D) economic thinking
14. Colonial policy and modernisation led to the destruction of :
(A) major industrial infrastructure
(B) irrigation infrastructure
(C) wurban infrastructure
(D) rural infrastructure
15. Gandhi’s active non-violence is derived from :
(A) Moral restraint of not injuring another being
(B) Having liberties, desires and acquisitiveness
(C) Freedom of action
(D) Nature-blind technology and enslavement of human spirit and energies
16. DTH service was started in the year :
(A) 2000 (B) 2002
(C) 2004 (D) 2006
M—-00 8



12.

13.

14.

15.

16.

TSt T TS WIS o qafeRoNa g9 AeAT i TR TeIRE T
(A)  STETIRAE (B) T=SH
(C) (D) e

TS Rl FIEEE @, TS Te U0 SHdn o Gfd el fear 9 fee Sefeuess e b
TI=mR 991 ?

(A) TrHToT Hifq (B) HmHIrSR feiaq
(C) vl ifa (D) e feiam
siafrafrr fifa iR smyferietor %l fo e st AR o 7T |

(A) Toeme sirenfies snenfies weam (B) TH=mg smenfie Hw=

(C) W&l s T (D) TTHTOT STefieh WA

TS Y wfsra sifden T T

(A) TH A I = T uga &1 Afaw g

(B) G, ST SR W@l 1 BT

(C) E A &Y Lol

(D) Uopfd o faeg Siet SaIeis qe A STcHT Ta IIfoRaal ol QT S

1.2, 7. a1 1 3R 11 9 gam|

(A) 2000 (B) 2002
(C) 2004 (D) 2006
M —00 9 P.T.O.



17. National Press day is celebrated on :
(A) 16th November (B) 19t November
(C) 21t November (D) 30t November
18. The total number of members in the Press Council of India are :
(A) 28 (B) 14
© 17 (D) 20
19. The right to impart and receive information is guaranteed in the Constitution of India
by Article :
(A) 19 (2) (a) (B) 19 (16)
© 19 ) (D) 19 (1) (a)
20. Use of radio for higher education is based on the presumption of :
(A) Enriching curriculum based instruction
(B) Replacing teacher in the long run
(C) Everybody having access to a radio set
(D) Other means of instruction getting outdated
21. Find out the number which should come at the place of question mark which will
complete the following series :
54,9,17,35,? = 139
(A) 149 B) 79
) 49 (D) 69
M—-00 10



17. T 49 food 9o S R
(A) 16 TEsR =l (B) 19 TEeR =l
(C) 21 TR H (D) 30 TelsR !
18. U9 Hisioct 31tk el H ol S B © ¢
(A) 28 (B) 14
Q) 17 (D) 20
19. FIAI 3T 3R U HTA T STUHR T MRS R & Hfaw= & g G R
(A) 19 (2) (a) (B) 19 (16)
© 19 (D) 19(1) (a)
20. oA foran ® Yea 1 suam ffafed smenfie w7
(A) TIEIA T STEMRA 3T Rl T HEAT |
(B)  3idd: 3TEATIH hl TAMTH HEA |
(C) 9% o i el T2 T
(D) 3Tl % TEL WEH WH ¥ T €1
21. @ TR S H g 9= (2) | I W EE i fafau
54,9,17,35,2 = 139
(A) 149 (B) 79
() 49 (D) 69
M —00 11
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Questions 22 to 24 are based on the following diagram in which there are three
interlocking circles I, S and P, where circle 1 stands for Indians, circle S for Scientists
and circle P for Politicians.

Different regions in the figure are lettered from a to f.

o—



22. S & W sfeaq (A1 sfeam) Sl o1 gwiar § S oo © ¢
(A) f B) d
() a (D) <
23. 9% &5 S, fe@erar ® fo o 7 1 Serfes § i) 7 qerifag -
(A) g B) ¢
©) f D) a
24. o€ &7 w1, fetgetar € S sfea ® oI S o ® ¢
(A) b B) c
©) a (D) d
25. Ta=fafEad st § &9 91 3is TEg 82
2, 5,10, 17, 26, 37, 50, ?
(A) 63 (B) 65
Q) 67 (D) 69
M-00 13
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‘P g faad gw 1 ‘3feaT’ & g & 1S ‘aisfeve’ & forg il P’ itereiivreT & g
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26. The function of measurement includes :
(A) Prognosis (B) Diagnosis

(C) Prediction (D) All of the above

27. Logical arguments are based on :
(A) Scientific reasoning (B) Customary reasoning

(C) Mathematical reasoning (D) Syllogistic reasoning

28. Insert the missing number :

4:17::7:2
(A) 48 (B) 49
(C) 50 (D) 51

29. Choose the odd word :
(A) Nun (B) Knight

(C) Monk (D) Priest

30. Choose the number which is different from others in the group :
(A) 49 (B) 63

Q) 77 (D) 81

31. Probability sampling implies :
(A) Stratified Random Sampling (B) Systematic Random Sampling

(C) Simple Random Sampling (D) All of the above

M-00 14



26.

27.

28.

29.

30.

31.

19 % g § witfed §
(A)  IFAITEE (YFEH)
(C) UfeRe (UNIf®)

qfeher far smenfia €
(A) TR TR W
(C) T ek o

IR g A
(A) 77 (Twgoit)

(C) Wewi (Hih)

=t | e e sl g
(A) 49

(C) 77

HqreHaT Yiq=rae & S9E © ¢
(A) HIARES Agf=s gfd=a
(C) W Fgf=seh gfd=r

M-00

(B)

eI (fem)
ST T4t

FITTd deh T

TN doh T

49

51

TER (M)

63

81

HArd Agiess gfd=
ST Ft

P.T.O.



32. Insert the missing number :

36 39 43 48 o

4 4 4

62’ 63" 61 64

A 2L m 2
= ®
o 22 oy 2
© @ D) &

34. Mary has three children. What is the probability that none of the three children is a

boy ?
1 1
(A = B 3
3
© 3 (D) 1
M — 00 16



32. < 3fhi bl WRT :

3 39 43 48 o,
62" 63" 61" 64

51 56
(A & B)

54 33
© & D) o

33. 334 o &% i o< ot gear fadedt fagned # g ?
(A) 3 SSTRT 40 T W (B) 3 &SRt 45 fie ™

(C) 3 st 50 e ™ (D) 3 SISt 55 fie W

34, U F A9 o €, 3HH 1 GO § B T A IS off ot T €2

1

1
(A) B) 3

3
© 5 (D) 1

35. afc fhet 90 % S15=am™ 1 50 Ufaerd siel fean < df SHeh & 9 3 | -
(A) 125 gfderd (B) 100 Hfawrd
(C) 75 gfaerd (D) 50 gfderd

36. WS Gaw AT

(A) HHX fewk e Al a9

(B) U fewm e ofeR #HN
(C) iR fewm T it ARt
(D) HHYX fewk e X 461

M-00 17 P.T.O.



37. The ‘brain’ of a computer which keeps peripherals under its control is called :
(A) Common Power Unit (B) Common Processing Unit

(C) Central Power Unit (D) Central Processing Unit

38. Data can be saved on backing storage medium known as :
(A) Compact Disk Recordable (B) Computer Disk Rewritable

(C) Compact Disk Rewritable (D) Computer Data Rewritable

39. RAM means :
(A) Random Access Memory (B) Rigid Access Memory

(C) Rapid Access Memory (D) Revolving Access Memory

40. www represents :
(A) who what and where (B) weird wide web

(C) word wide web (D) world wide web

41. Deforestation during the recent decades has led to :
(A) Soil erosion (B) Landslides

(C) Loss of bio-diversity (D) All the above

42. Which one of the following natural hazards is responsible for causing highest human

disaster ?
(A) Earthquakes (B) Volcanic eruptions
(C) Snow-storms (D) Tsunami

M—-00 18



37.

38.

39.

40.

41.

42.

IR T Afesh S uRe (TRREed) #1 e H W € 39 wed €

(A) RIEA X g1 (B) hIHA YT gfe
(C) Fgel W e (D) Gz WEfHT Ffe

T2 o GReTd ©R A & fau fom Arerm i1 359 i ¥ 39 Fed € ¢

(A) Fx femp fidaa (B) FX femh fEesa
(C) FHix femr faEesa (D) IR A e

W (INTEA.) o 37 2

(A) Ter U HH (B) RiSe tww v
Q) e TFw AEk (D) Refeam Ve ToRt
Toq] Toq] o] I A R ¢

(A) BEEUE X (B) Taug ame A«

(C) =S aIgE o (D) oIeE AES o

BT &% T B STl o heM w1 qom Frefafed gen €
(A) SL-&T (B) -F@e

(C) Stafafaua =t «fd (D) W |t

o o wrehfaer wadi & e & waifue afd & fay Swert €1
(A) shd (B) ST I Hel
(C) wF qHA (D) gt

M-00 19
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43. Which one of the following is appropriate for natural hazard mitigation ?
(A) International AID (B) Timely Warning System

(C) Rehabilitation (D) Community Participation

44. Slums in metro-city are the result of :
(A) Rural to urban migration (B) Poverty of the city-scape

(C) Lack of urban infrastructure (D) Urban-governance

45. The great Indian Bustard bird is found in :
(A) Thar Desert of India
(B) Coastal regions of India
(C) Temperate Forests in the Himalaya

(D) Tarai zones of the Himalayan Foot

46. The first Indian Satellite for serving the educational sector is known as :
(A) SATEDU (B) INSAT-B

(C) EDUSAT (D) INSAT - C
47. Exclusive educational channel of IGNOU is known as :
(A) Gyan Darshan (B) Gyan Vani

(C) Door Darshan (D) Prasar Bharati

48. The head quarter of Mahatma Gandhi Antarrashtriya Hindi Vishwavidyalaya is situated

in :
(A) Sevagram (B) New Delhi
(C) Wardha (D) Ahmedabad
M—-00 20



43.

44.

45.

46.

47.

48.

= fora H | wiehfaek saer ¥ o= & fa ®F ad 3uged § 2

(A) i g (B) T W <

(C) gTa™ (D) HHEIe eIl
TEFRI B grit-giafeat fhaent aftom &2

(A) TiiET | ol B AR g (B) R % FD &= H el
(C) W&l ¥ AT o e (D) ref-stiemeA

e Sfe T vaft urn S €
(A) YRA % IR HEEIA H (B) ¥IRd % HHg T &l o
(C) Tewrera  wwefiare &= (D) femmem™ =t aUE &= 8

IRa | fo1en & & H qan § yga veen | Jeremse’ i 2
(A) THTIAIEG, (B) T - Wt
(Q) I THTIE (D) T - ©t

‘57 1 THAT el Afeish e 1 99 T
(A) M A (B) M @it
(C) T (D) TER At

T T SR fewdt fava fomrmer &1 e wel feua 82

(A) GemmH (B) ¢ feeett
(C) aHi (D) 3TEHSEG
M —00 21
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49. Match List - I with List - II and select the correct answer using the codes given below :

List - 1 List - 11
(Institutes) (Locations)
(a) Central Institute of English (i)  Chitrakoot
and Foreign Languages
(b) Gramodaya Vishwavidyalaya (i) Hyderabad
(c) Central Institute of Higher Tibetan Studies  (iii) New Delhi
(d) IGNOU (iv) Dharmasala
Codes :
(@ b (© @
(A) @) @ (Gv) (D)
(B) (v) (i) @) @)
(© @) @Gv) @ @)
(D) @ @) (Gv) (D)

50. The aim of vocationalization of education is :

preparing students for a vocation along with knowledge
converting liberal education into vocational education
giving more importance to vocational than general education

making liberal education job-oriented

-00o0-
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49. G- 1 Gt - 11 9§ fiad g iU 7@ &l 1 T itk 981 ST S |

e - 1 e - 11
(FEAT) (37T TIT)
(a) W feege o e @) ferge
TUE HRA A
(b) TR faafermer (i) TSR
() Hgd =T it TR foaed weiw (iii) TS feoedt
d T (iv) ETEE
Hig:
(@ ) (o (@
(A) () @) (v) (i)
(B) (Gv) () @) (@)
© @) @(v) @ ()
(D) (@) (@) (v) (i)

50. 8T o SiRoT ol S A W § 2
(A) B &I T & G FIEE 6 FAC TIR LA |
(B) <R fuen =1 =reranfyek foan o ager|
(C) Tm= fren & S Smadae e W SAel Sk <4 |

(D) TR e =il FaEEFE! s M |

-00o0-
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